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1. Find the missing value in the equation :2=32:8

(i) 6 (ii) 8 (iii) 10 (iv) 9 (v) 7

2. Divide 14706 in the ratio 25 : 32
(i) 6450, 8256 (ii) 6451, 8256 (iii) 6450, 8253 (iv) 6450, 8259 (v) 6449, 8256

3. The simplest form of162:756 =

(i) 2:14 (ii) 3:11 (iii) 4:14 (iv) 3:14 (v) 162:759

, 12 18 1 13
4. Find the product of extremes of — :— and — : —
17 11 12 7
(0 158 (i) 4 (i) 3 (V) 156 W) 22
! 119 ! 3 . 22 v 119 v 17

5. Aratiois equal to 7 : 2. If its consequent is 3300, what is its antecendent?

(i) 11549 (ii) 11550 (iii) 11548 (iv) 11552 (v) 11551

6. The ratio 5: 3 is proportional to which of the following ratios?

(i) 15:18 (ii) 10:15 (iii) 30:9 (iv) 20:12 (v) 25:6

2 2 17
7. Find the number which bears the same ratioto 5 that z_a does to 8_4

R I R (Y O s
I 15 ! 17 ! 17 W 17 v 19

An office contains 546 employees of 4 types. The managers, team leaders, developers and testers are in the ratio
2:5:6: 1. The number of testers in the office =

(i) 39 (ii) 41 (iii) 36 (iv) 40 (v) 38

9. Divide 20250 in the ratio 28 : 29 : 18
(i) 7560, 7827, 4860 (ii) 7561, 7830, 4860 (iii) 7560, 7832, 4860 (iv) 7559, 7830, 4860

(v) 7560, 7830, 4860

10. Which of the ratios is proportional to 20 : 5?
(i) 12:3 (ii) 12:6 (i) 13:3 (iv) 12:1 (v) 11:3

11. Which of the following does not represent a proportion ?

(i) 9:15::36:60 (ii) 8:16::40:80 (iii) 18:24::36:48 (iv) 10:14::30:42 (v) 4:6::8:18

12. Find the product of extremes of1:7 and17:15
(i) 15 (ii) 18 (iii) 13 (iv) 119 (v) 14
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The consequent in the ratiol:11 =

(i) 11 (i) 1 (i) 13 (iv) -2 (v) 10

A ratio is equal to 2 : 13. If its antecendent is 2380, what is its consequent?

(i) 15472 (ii) 15471 (iii) 15468 (iv) 15469 (v) 15470

8
Divide 5767 in the ratio 7

(i) 5257 ,511 (ii) 5256,509 (iii) 5256,513 (iv) 5255, 511 (v) 5256, 511

If x:24::15:30, find 'x'
(i) 14 (i) 13 (i) 12 (iv) 11 (v) 9

A box contains 490 mangoes, 350 apples and 280 oranges. The ratio of all fruits in the box =

(i) 8:5:4 (ii) 7:2:4 (iii) 7:7:4 (iv) 7:5:4 (v) 6:5:4

Divide 7400 intheratio9:3:9:19
(i) 1665, 555, 1665, 3515 (ii) 1665, 558, 1665, 3515 (iii) 1666, 555, 1665, 3515

(iv) 1665, 553, 1665, 3515 (v) 1664, 555, 1665, 3515

A bag contains 2329 in the form of five-rupee, two-rupee and one-rupee coins in the ratio 18 : 17 : 13. Find the
number of coins of each type

(i) 308,284,221 (ii) 305,289,226 (iii)) 306,289,221 (iv) 304,294,221 (v) 307,294,216

An office contains 72 managers, 36 team leaders, 216 developers and 252 testers. The ratio of managers to the
total employees =

(i) 1:5 (ii) 0:8 (iii)) 1:8 (iv) 2:8 (v) 1:10

Which of the following represents a proportion ?

(i) 41:49::82:147 (ii) 38:46::152:138 (iii) 42:50::126:100 (iv) 39:47::117:188 (v) 40:48::120:144

7
DivideX22500into three partssuch that the first one is-2 of the second and ratio between second and the third is
1:3
(i) ¥10500.00:33000.00:33000.00 (ii) ¥10500.00:33000.00:39000.00

(iii) ¥10500.00:X9000.00:X3000.00 (iv) X3000.00:X9000.00:X10500.00

(v) X9000.00:X10500.00:X3000.00

Find the product of means of1:2 and17:16
(i) 16 (ii) 34 (iii) 32 (iv) 33 (v) 36

Find the ratio between 6 m and 3 km

(i) 1:500 (ii) 1:497 (iii)) 0:500 (iv) 1:503

A box contains 396 stationary items of 2 types. The pens and pencils are in the ratio 4 : 5. The number of pens in
the box =

(i) 175 (ii) 176 (iii) 177 (iv) 174 (v) 179
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